0
w Y % Adigao até 1000 (horizontal)

Nome: Encontro: Data: Pontuagdo:
424 + 873 = T+627 =
127 + 830 = 112 +94 =
908 + 443 = 464 + 618 =
438 + 58 = 8+ 391 =
360 +416 = 319 + 889 =
581 + 502 = 802 +438 =
329+ 390 = 454 + 283 =
183 + 751 = 97 + 540 =
444 + 174 = 54242 =
681 + 629 = 701 + 533 =
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Adigao até 1000 (horizontal)

Nome:

424 + 873 = 1297

127+ 830 = 957

908 +443 = 1351

438 + 58 = 496

360 +416 = 776

581 + 502 = 1083

329+ 390 =719

183 + 751 = 934

444+ 174 = 618

681 + 629 = 1310

Encontro: Data:

7+ 627 =634

112 +94 = 206

464 + 618 = 1082

8 +391 =399

319 + 889 = 1208

802 + 438 = 1240

454 + 283 = 737

97 + 540 = 637

5+242 =247

701 +533 = 1234
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Pontuacao:
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